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A. KEX I ECIL
(Types of Reasoning) /




Given below are two statements:
Hrer 21 s fauw o €
Statement/&RAA (1) : Two triangles are said to

be congruent if their corresponding angles are
equal and corresponding sides  are
proportmnal

WG @I wEE E N EWiE 9eg
|HTIUTAT &
Statement/a&he (II) : Two triangles are said to

be similar if their corresponding angles and
corresponding sides are equal

TAO®Y gl AT & dfe 39k 9@ ahior 31T
I AT T &

In the light of the above statements, choose the

correct answer from the options given below:
IULh HAAT o ATATR § fircn%m faemear o
o wEt I I

(a) Both statement I and statement Il are true

FI9 1 311 11 241 981 21

(b) Both statement I and statement Il are false

FHUT 1 3 11 24 TAd 2 |

(c) Statement I 1s correct but statement II 1s false
HA 1 Tea 2 fohg 94 11 Tea €1

(d) Statement I 1s incorrect but statement II 1s
true/&HIA 1 3799 ¢ foha Fo= 11 T 21
UGC NTA NET JRF June 2020 (5 Nov.) Shnft-ll
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Given below are two statements:
rer 21 = fau o €:
Statement/&RAF (I) : Two triangles are said to

be congruent if their corresponding angles are
equal and corresponding sides _ are
proportmnal/?ff

W v @uE g iR 'Wiha Owng
|UTIUTAT B
Statement/ehe= (II) : Two triangles are said to

be similar if their corresponding angles and
corresponding sides are equal

TO®ET el AEl ¢ dfe 39k 9ia hiur 31T
I YATE THTA B

In the light of the above statements, choose the
correct answer from the options given below:

SUdh AT o AR

o g 39 94
(a) Both statement_I and_statement II are true
I 37 11 g4 9@t 21

Bolh statement I and statement Il are false

FHA9 1 3 11 21 7Ted 81

(c) Statement I 1s correct but statement II 1s false
FI9 1 97 2 fohg F97 11 Tad 21

(d) Statement I 1s incorrect but statement II is
true/&He | 319 2 fohg F99 11 91 21

UGC NTA NET JRF June 2020 (5 Nuv ) Shlft-ll

T e

Ans. (b) : T S FaATEA gd € 5@ 39 9 H0T 3R
A T TR g TR G S T A e A
g 4 FEd T 21 Ta IAE BON AT e H S am
at & gatmaw & &

m:aﬁrmmwa%'n




Given below are two statements:

e g wa= feu o €

Statement/&hd= (I) : The value of hexadecimal
number 21 1s 33 in  decimal number

system/9€a¥HE (ZFarefama) d@@&n 21 & 5|
qYWed G yomelt § 33 @i 21
Statement/&¥= (II) : The value of binary

number 1110 1s 14 in decimal number system/
fEamard S 1110 & 79 SWHad 9641 el |

14 2T 21

In the light of the above statements, choose the
most appropriate answer from the options
given below:

IUTh AT o WAt W fAeifea fawmedr o
o waifire Iugh SO 94:
(a) Both statement I and Statement Il are correct

F99 1 A 11 241 981 2

(b) Both statement I and Statement II are
incorrect/&4 1 3T 11 I+ q&t &1 2

(¢) Statement 1 1s correct but Statement II is
incorrect/F49 | TEl 8 fohed ®o 11 WEr T2 g

(d) Statement I 1s incorrect but Statement II 1s

correct/sH9d | G’tﬁ“’ﬁ%ﬁﬁ&u"ﬂﬂ 1 oet @
UGC NTA NET JRF June 2020 (17 Oct.) Shift-11



Given below are two statements:

e g wa= feu T €

Statement/&LT (I) : The value of hexadecimal
number 21 1s 33 in  decimal number
system/YSEYE (FFTEfgud) = 21 & AF
qYMed &A1 Jutelt # 33 & 21

Statement/&I (II) : The value of binary

number 1110 1s 14 in decimal number system/
fasmerdl d@=a 1110 &1 99 I9Werd §E&A Jorell |

Lz 71 pa—

In the light of the above statements, choose the
most appropriate answer from the options
given below:

ELE A

Both statement | and Statement Il are correct

9 1 3 11 341 98t @

(b) Both statement | and Statement Il are
incorrect/® 1 31 11 a1 T8t &1 2

(c) Statement | is correct but Statement Il is
incorrect/Fa | T 2 fohed o 11 w&l =&l 4

(d) Statement I 1s incorrect but Statement II 1s

correcﬁﬂﬂlﬁﬁéﬁﬁ%ﬂﬂ 1 o&t 2
UGC NTA NET JRF June 2020 (17 Oct.) Shift-11

4=

/
F24 11 & HFER —
fgamar® d@m = (1110)

N
-]

ZyMed & fau 7

3 L 1224 152! +
{)::2“1 x2" + 1x2°+ 1x2

= I x8+1x4+1x2+0_

= 8§+4+2+0




Given below are two statements :
Statement/&IT (I) : Sometimes, Ratio has
units/&ef-sweft arquTa Ft g@TZAT BN £
Statement/&hd= (II) : When two ratio are
equal, a proportion is formed/Sal ar rqard
aTET B §, A U WHITA @1 fwtor gar g

In the light of the above statements, choose the

correct answer from the ?tmns %wen below :

o Tt :-':m gﬁ
(a) Both Statement | and Statements Il are true/

F9 | 3R 11 241 T8 &1

(b) Both Statement | and Statements [l are false/

F44 1 311 241 Ted 8
(c) Statement I 1s correct but Statement II 1s
false/ F9 | T & fobg Fo 11 el & |

(d) Statement | 1s 1ncorreut but Statement II 1s
true/Ha | 316 ¢ foh Fo 11 W& 21

UGC NTA NET JRF June 2020 (5 Nov.) Shift-I




Given below are two statements :
Statement/sh9= (I) : Sometimes, Ratio has
units/&eft-weft T @i gETEAt At €
Statement/&9= (II) : When two ratio are
equal, a proportion is formed/S& a Fqurd
aTET g §, A Ueh WAt a1 fwior e g

In the light of the above statements, choose the

correct answer from the options given below :
:mjﬁ St s s B fane s o
T T I A

(a) Both Statement | and Statements Il are true/

F99 | 3R 1 a1 98 8 |

(b) Both Statement | and Statements Il are false/
FHI | 3R 11 21 T g |

(c) Statement I i1s correct but Statement II is
false/ 9 | &7 ¢ b H2r 11 Terd €1

d) Statement | 1s 1nc0rreut but Statement Il 1s
true/&4 | 316 ¢ fobd o 11 9@ 2

UGC NTA NET JRF June 2020 (5 Nov.) Shift-1

Ans. (d) : A A 3 | G GO & e wa
e e S T e o e e nec e

T I g T AN ¢ T
mzmamwmmaﬁg|

3: F - I)W%m’nmﬁﬂ ) Hﬁ%l




Given below are two statements :

S o= fau o €
Statement/&RAF (I) : Co-prime are the numbers
which have only 1 as their common factor/Hg-
g 9@ 9 € fome swafis edEe e |
2 g1
Statement/&d=  (II) : Factorization 1is the
decomposition of a number into the other numbers
which when added logether will Iglws the onglnal
number
3= dEsi q ﬁwﬁm ﬁw S 2 ﬁi%’ LG HT?I
e W qa T W g 2
In the light of the above statements, choose the
correct answer from the o tiuns#iven below :

IUATH HAA & AR faameat o

¥ a3 A ¢

(a) Both Statement | and Statement Il are true/
o [ 3R 11 2 T2 &

(b) Both Statement I and Statement II are false/
FI9 | 3R 11 ST e g

(c) Statement I is correct but Statement II 1s
false/®97 | T & fobq 9 11 Teid & |

(d) Statement I 1s incorrect but Statement II 1s
true/&Ha 1 379 2 fhg F99 11 & 21
UGC NTA NET JRF June 2020 (5 Nov.) Shift-1




Given below are two statements :

rer 2t wa= feu o §

Statement/&®AT (1) : Co-prime are the numbers
which have unlL_L.a.s_Lh.E:.l.r_:ommon factor/H@-
FIg HEAW 9 g A 3wafas e 9 |
g 2|
Statement/&g=  (II) : Factorization 1s the

decomposition of a number into the other numbers
which when added together will EWE the nrtgmal
number

g g o ﬁwﬁm m I ﬁl-_% G vaw
Sigd W qa 9eA o gl 2
In the light of the above statements, choose the
correct answer, from the options given below :

YA HAF & ATATR

| uE I A

(a) Both Statement I and Statement Il are true/
T [ 3R 11 34 T 2

(b) Both Statement | and Statement II are false/
&9 [ 3R 11 3 Tad ¢ |

(c) Statement I 1s correct but Statement II 1s
false/@9 | ¥ @ fég &9 11 Terd €|

(d) Statement I is incorrect but Statement II is
true/FI 1 39 7 g F99 11 T 2\

UGC NTA NET JRF June 2020 (5 Nov.) Shift-I

UGC NTA NET JRF June 2020 (5 Nov.) Shift-1
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s.gcgﬁﬁ%;;w Mﬁ@ﬁﬂmﬁg
e @ @Wt{ﬂf&(}mm
fefor a2 21 -

Wﬁmﬁ@mﬁﬁﬁﬁmﬁ%

T & ®0H for@ el K
A F9 | T 8 AR F 11 7 2




Given below are two statements :
SUERERCUEILE X

atement/&®A (I) : It 1s possible that there are
53 Tuesday in a non-leap year/a8 §9a 2 faraft M-
Aty (3 &9 $27) § WeEr & G 53 @
Statement/&AT (II) : In a non-leap year, there
are 54 of each day plus one extra day/f&dt -
fted § g @9 54 ar 3 € 3k uw Il
fer & 21
In the light of the above statements, choose the
correct answer from the ggtiuns given below :

IUdh &l & e W faeifeRa fawmedt ®

(a) Both Statement I and Statement II are true/
Fa9 [ 37 11 41 T &1

(b) Both Statement I and Statement Il are false/
Fa9 | 3R 11 241 Terd 81

(¢) Statement I 1s correct but Statement 11 1S
false/®97 1 9 2 fohg F9 11 Tea 1

(d) Statement I 1s incorrect but Statement II is
true/H9 | 37T 2 b F97 11 9l 21
UGC NTA NET JRF June 2020 (4 Nov.) Shift-I
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Given below are two statements :
fraqrwaafee o g -

Statement/&h&AT (I) : It 1s possible that there are
53 Tuesday in a non-leap year/d8 H9d 2 forddt -
Aferad (A7 g $27) o WeER & H@EE 53 @
Statement/&®AT (II) : In a non-leap year, there
are 54 of each day plus one extra day/fFdt -
s # w&Is &9 54 a) 9 € 3R e
fem gram 21

In the light of the above statements, choose the
correct answer from the tgmuns given below :

Iudh HAAT & ATere 0 iR ferereat

o WE I A -

(a) Both Statement I and Statement Il are true/
Fa9 [ 3R 11 241 T 2

(b) Both Statement I and Statement II are false/
HI [ 3 11 gH1 Terd g

) Statement [ 1s correct but Statement II is
false/®99 | ¥ 2 fohq F94 11 7ed B

(d) Statement I 1s incorrect but Statement II 1s
true/HIF | 39 & fobq F99 11 T 21

UGC NTA NET JRF June 2020 (4 Nov.) Shift-1
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Choose the word which is different from the

rest : / A0 & AW YIeg T oI iTTT—
(a) Aravali Hills / 370del &l gerfea
(b) Shivalik Hills / ferarfers weifeai
(c) Nilgiri Hills / Frafift S vaifear
(d) Mount Kilimanjaro / A3 ERICSIC
UGC NET/JRF Shift - 1, set-9 22 Dec- 2018




Choose the word which is different from the

rest : / 90 | AW Y162 &1 WA hifT0-
(a) Aravali Hills / 30ael 3 wifeai .~
(b) Shivalik Hills / f¥arferes uarﬁgm//
(c) Nilgiri Hills / drei F wifear
(d) Mount Kilimanjaro / A132 EXIEEI
UGC NET/JRF Shift - I, set-9 22 Dec- 2018

Ans\mw%ﬂmﬁﬁﬂm Fyrafer®
q defi # i § afE AR
AT W & It 2 & dafen
Jaftad 71 =




(Number Series)




In the series 358, 364, 370, _, what w1ll

be the 12th term"f’{@'ﬂ'l 358, 364, 370, \"L
(e @ am? N\ A AT =

(@) 420 (b) 424

(c) 428 (d)

‘\JTA lIG( NET/JRF June 202 (04-01-2022 5hift-11)

- - - -

—”
J



1V
In the series 358, 364, 370,  What will

be the 12 term/ST@RT 358, 364, 37,
IR ARk ki

(a) 4 Qb) )

(0) 428 (d) 432
NTA UGC NET/JRF June 202|!04-01-2022 Shiftl)
\w

V

Ans.(h):ﬁfl‘ﬂil%ﬁ,

358,364,370 ..........

590 95 (a) = 358 @

Fai (d) = (364 - 8) 6 — @)

T =9

{a T a+(n 1)d L
n=2+(n-1) A i\eU\/—P:
Tp=358+(12- 1) g\
Tp=358+11x6 S (,©
T;,=358 + 66 =424

35 faered (b) 54 2 \,)gb /

2:

N



How many terms are there in the series

sFEeTt § faha ug &2

168, 175, 182, ........ , 266 %
(a) 13 (b) 14 /
(c) 15 (d) 16

NTA UGC NET/JRF June 2021(26-11-2021 Shift-I




How many terms are there in the series

sfger U e 0g 87

168, 175, 182, ..oovs 266

a) 13 — (b) 14
15 (d) 16

NTA UGC NET/JRF June 2021(26-11 2021 Shlﬂ l

Ans. (c) d T; T—T T|=7

Arithmetic formula: AP=a+ (n- 1)d
AP =[= 266
d=7 —=—
a=168_
266 =168 +(n—1)7

266 - 168 +7="7n
Tn=105 — ———




5 /\ ,

What comes next in the following sequence?

Hor fau 70 9EE W SWTe W U @l
HE&AT AT

5,16,51,158,2?
(a) 387 (b) 481 0\
(c) 482 (d) 487 -~

NTA UGC NET/JRF June 2021(04-01-2022 Shift-I)




|

What comes next in the following sequence?

et fou MU T W IR W W EE W
T AT

5,16, 51,158,

(a) 387 (b) 48] \/

(c) 482 (d) 487

NTA UGC NET/JRF June 2021(04-01-2022 Shift-1)

Ans. (b): &1 T8 5 o -

s 16 5158 Y4
X341 x3H3 x5 x34T
3 3T TG 481 M)




What comes next in the following sequence?

frafefiaa srgee W 31 o 3TaT 87

124 8,

2761854 =
(a) 10/108 (b) 16/106 \/
(c) 16/162 (d) 24/108

NTA UGC NET/JRF June 2021(27-12-2021 Shift-1I)



What comes next in the following sequence?

ITRT | AT AT IATAT 7

A S 8 q‘“—‘
261854

(a) 10/108™ (b) 16/106
(c) 16/162 \/ (d) 24/108

NTA UGC NET/JRF June 202!(27—12 2021 Shift- ll)

Ans. (¢) : ffﬁ'&f’}ﬁﬁ‘:ﬁﬂg
Dy 8, 4 [, 5 @), 6

2 (2) s ()15t 54—D—>]62‘/

Hd: FATA E I
“Z@ %’"
i, i S—7 =




What comes next in the following sequence ?

frrafafiga aft o srreT v @ 2o ?

27.4X.7V. 11T, ?

(a) 15P_ (b) 15Q — \\
(c) 16R — (d) 16S _ e

NTA UGC NET/JRF June 2021(27-12-2021 Shift-I)
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What comes next in the following sequence ?

foerferfiga sroft o arTe ue &t g ?
274X, 7V, 11T, ?

(a) 15P (b) 15Q

(c) 16R v/ (d) 16S

NTA UGC NET/JRF June 2021(27-12-2021 Shift-I)

v A 2 2
(;7)—2“2;1)—2)(22)—7)(30)—7)('3)
= - 7 - s

7 7




Find the number which will occupy the blank
space:/ T o s = &t A ard
U@ S AT ahifou-

2 3 5 16

| 4 6 23

2 3 1 12 |

0 3 9 ) |
(a) 42 (b) 18
(c) 24 (d) 3TH | § FIZ

CG SET 2013 Paper-ll

A\



Find the number which will occu

space:/ fo o i wm= &t

the blank

HE ar

v

T &t [T aifea-

— 2 3 5 16
> 1 4 6 23
—2- 3 1 12
— 0 3 9 ?
(a) 42 ) 18

(c) 24 (d) 39UH | F FHIg &I

Ans. (b) : 2*+;+_5 16
1+4*+6=23




What number should replace the question mark?

v Tag &l sh=-dt S giawenia sift?

7,8,9, 10, 12, 14, 16, 20, 21, 28,(?

(a) 27 (b) 290 ‘/ \%
(c) 32 (d) 36 —

NTA UGC NET/JRF June 2021(26-12-2021 Shift-I)




What number should replace the question mark?
uvA Torg &l -9t g giaeanua &eft?
7,8,9,10,12, 14, 16, 20, 21, 28, ?

@ 27V (b) 29

(c) 32 (d) 36

NTA UGC NET/JRF June 2021(26-12-2021 Shift-I)

[Ans. (a) & T e fa -

Cl (+2 45, 46— / &’_',1 Y
78,910 12,1416 2001 sp7” 38 3
16, FU'—'L 18'

2, 4 t6 _ 48




What number should replace the question
mark(?)?

form @& & g1 wyAtug ot wiaentua ferar \\\

=T =g ? 0,10,10,20,30,50? /
(a) 90 (b) 80
(¢) 60 (d) 100

NTA UGC NET/JRF June 2021(24-12-2021 Shift-11I)




What number should replace the question
mark(?)?

fere AT & gIT wyAtag ol wiaenrtaa ferar

F=T wmEe? 0,10,10,20,30,50?

(a) 90 (b) 80 /7

(c) 60 (d) 100

NTA UGC NET/JRF June 2021(24-12-2021 Shift-1I)
/Z

Ans. (b) :\/

Tgel = 0 3

TS 10 =7\

dET = 0 +10 => 10 (T &I & @A H qM)

=9 = 10 +10/:\>20(qsé‘ﬁadwaﬁ$ru‘lﬂ)

Gradl = 10 + 20 = 30 (el & & @i F I)

Z3d = 20 + 30 = 50 (Tel &1 & FE@si F )

aal = 30 + 50 = 80 (98 & al TR H F)




What number comes next in the following
sequence?

ffafiaa s asn o STt e &= gt ?

1, 2.25. 6.25. 16, ? \ <
(a) 26.25 (b) 36 ~
(c) 32.5 (d) 38.25 g

NTA UGC_NET/JRF June 2021(24-12-2021 Shift-I)
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What number comes next in the following
sequence?

freaferfige SreRm U 3RTET S &t gt/
1,2.25, 6.5, 16, ?

(a) 26.25 (b) 36 VvV

(c) 32.5 (d) 38.25

NTA UGC NET/JRF June 2021(24-12-2021 Shift-I)

Ans. (b) : & T guft faaq 2-

| —2.25——6.25 >16 »136 /

J 3 l J T 4
12 15 (257 @ (6Y)

Y v <+ ¥ T

l 1.5 2.5 4 6 \/

—— |:®| .7
qﬁ36§m|® <>




When a sum of money was distributed to 10
boys instead of 15 boys, each boy got Rs. 50
more. What was the sum?

W& HE T 15 TR & a9 1) TS |
ferafta @t Wt &, @ yAd @eh @t 50 HUU
e UTE 21 &1 9 TN et off ?

() <1000 (b) <1200

(c) <1250 (d) 1500
NTA UGC NET/JRF June 2021(29-11-2021 Shift-I1)




When a sum of money was distributed to 10
boys instead of 15 boys, each boy got Rs. 50
more. What was the sum’

A & TEW 15 FEH & a9 [) e W
foria & W0 &, A VE wEd & §)
i W B &1 7% T e of ?

(a) <1000 (b) <1200

(c) <1250 (d) <1500
NTA UGC NET/JRF June 2021(29-11-2021 Shift-Il

Ans, (d) : AFT Fef T = IX

Sd 10 A H T AT T
mmm@ﬁﬁﬁuﬁ_—o
9 15 dSH H TR qLT T
aammﬁfha‘lrﬁ:l?
A 50
10715 ==
SN
J s5x D7
=50 w b
10><15 agl

x T N




What comes next in the following sequence?
8,6,45,35 ‘

8,6,4.5,3.5, % 3TTW W 3WTEAT SIF-HT 3idh FAT?
(a) | (b) 2

(c) 2.5 (d) 3

NTA UGC NET/JRF June 2021(28-11-2021 Shift-11)




What comes next in the following sequence?

,6,45,35,
8,64.5,3.5, % SR T INTE -1 37 g
(a) | (b) 2

(c) 2.5 (d) 3 /

NTA'UGC NET/JRF June 2021(28-11-2021 Shift-11

Ans. (d)-:' "a°r Traf ”{@Fﬂ ﬁmaaé—

1T 1 e

Ay v - 05




What number comes next in this sequence?

U AT W 3T GE&AT S °t 3muefi?
6,4,2.5,1.5,?
(a) 0.5 (b) -0.5

(c¢) 1 (d) -1
NTA UGC NET/JRF June 2021(24-11-2021 Shift-I)
~ r . — - 1

\{

/




What number comes next in this sequence?

39 @ W 3T WEAT i i 3ut?
6,4,2.5,1.5,?

(a) 0.5 (b) -0.5

(c) 1V (d) -1

NTA UGC NET/JRF June 2021(24-11-2021 Shift-1)

Ans. (c) : & T F@ar f=ad g-

6—2prd—1342 53415251 /
3a: fawed (¢) 39 S@en F T IW 2|




Complete the number series
HEAT-27W i UTT il

0, 6, 24, 120, ......
(a) 180 (b) 300 \"\
(c) 210 (d) 240

NTA UGC NET/JRF June 2021(22-11-2021 Shift-11)




Cumplete the number series

HEAT-%W &l G i
0, 6, 24, 120, ......
(a) 180 (b) 300
(c) 210 (d) 240

NTA UGC NET/JRF June 2021(22-11-2021 Shift-11)

Ans\)/ff T CLEl ﬁﬂa'r[é

6 24 60 120 210
l i y | ! ¥

(0pedy (=2 (3)'-3 (4)'-4 (5)-5 (6) -6
W w0 Y Y Y




What is the missing number?

faifera ¥ woa amees g (?7) & T W

@ ot d@eEn uatt?
4, -8 16,(?). 64.-128
(a) -24 (b) 32
(c) 24 (d) 30

UGC NTA NET JRF June 2020 (5 Nov.) Shift-I




What is the missing number?

fifera W wya oo fog (?7) & WH W

@I it dEn St
4,-8 16, (?). 64.-128
(a) -24 (b) =32 /
(c) 24 (d) 30
UGC NTA NET JRF June 2020 (5 Nov.) Shift-I
Ans.(b):qﬂ?ﬂmbﬁ/ 4
4 x -2 =>-8 —"\‘”
-Ex-2 =516 — -~
16 x -2 :@/ T
~32x-2 =64
6 x—2 =5-128
Yyaras (98 & H W -32 HE&A1 3




Complete the series :

frafefaa oie a0 &t o &1
L5 9. 19,37,

(a) 75 (b) 76
(c) 77 (d) 78

UGC NTA NET JRF June 2020 (4 Nov.) Shift-I




Complete the series :

2:5.9.19. 3], iissi
(a) 75 \/ (b) 76
(¢c) 77 (d) 78

UGC NTA NET JRF June 2020 (4 Nov.) Shift-I

Ans. (a) : Teell H&A1 = 2
2x2+1=224+15
2-110-129
9x2+1= 18+ 1219
19%x2-1238-137
SIx2+ 1=+ ]1=575 \/




Find odd one out in the following:

freafofiaa o 9 3rETa &t ugar= &ifau:
Dy 1y 12, 11,19, 23

(a) 7 (b) 12

(¢) 17 (d) 19

UGC NTA NET JRF June 2020 (17 Oct.) Shift-11

S




Find odd one out in the following:

frafefiaa o & 15T &t gg=TT Sifag:
5,7,(12017,19,23

@7 Y~ (1S

(c) 17 (d) 19
UGC NTA NET JRF June 2020 (17 Oct.) Shift-11

Ans. (b) : & T2 U ST TEAIST 31:1;;1;4 g1 37
& g guit o 12 3/ 2 i 12 9T §E T 2

- i . e




L

Find the odd one out in following sequence:

fafafaa goft & o fasrdta sie =4:
1, 5, 14, 30, 50, 55, 91

(a) 14 (b) 30

(c) 50 (d) 55

UGC NTA NET JRF June 2020 (9 Oct.) Shift-1

v



wr

Find the odd one out in following sequence:

Prerferfaa sioft & & Faser aie o3

1, 5, 14, 30, 50, 55, 91

a (b) 30
¢) 50 v/ (d) 55
UGC NTA NET JRF June 2020 (9 Oct.) Shift-I

Ans. (¢) :

142" = 1+425
5+3' =>5+9 =14
14+4° = 14+16 = 30
30+5° =30+25 = 55)

55+ 6 =55+36 = O]
3d: @ | fosrdE 39 50 2|




Find the wrong number in the series :
Preaferfiad GEaT-m0 § ¥ Ted W@ A

[SRLLLYY

7.8, 18, 57, 228, 1165, 6996

(a) 1165 (b) 228
(c) 57 (d) 18
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Find the wrong number in the series :
frefefigs H@n-sm § ¥ e WE & U
et
7,8, 18, 57,228, 1165, 6996
(3) 1165 028 /

8

(c) 57 (d) 1
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Ans. (b) : T8l §&I1 = 7
7x1+1=>8
8x2+2=>18
18x3+3=57
57x4+4=232
232x5+5=>1165
1165%x6+6=>6996
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The next number in the given series is

foar Ty o T W = gieit?
196, 384, 736. ?

(a) 1344 " (b) 1244

(c) 1434 (d) 1544
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The next number in the given series is Ans. (a) \/

ﬂ'&'rr& w0 W AT W Fn a'lﬁ') 196, (196-4")x2, (384-4°)x2, (7136-4")x2
196, 384, 736, (192x2),  (384-16)x2, (736-064)x2
(a) 1344 (b) 1244 = 384, (368x2),  (672x2)
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What is the next term in the followin

forerifenar sj@en o anTet wn

4,12, 28, 52,

(a) 76 (b) 84

(c) 98 (d) 104
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What is the next term in the followin erles?

fererifere sf@e o anTelt wea @
4,12,28, 52,
(a) 76 (b) 84 v
(c) 98 (d) 104
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Ans. (h) U8l 9q =4 B
4+8 ¢ =|2
1241 -28/
28+24 =52
52432 © =84 —
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